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Sin(a) + Sin(p) =2 - Sm‘ B

oL = B |
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1 Cos.

Sin(a) — Sin(p) = COSI

Cos(

i
Cos(a) — Cos(B)=-2- Sin|
L
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Sin(c + p) i Siﬁ(oa—B)
Cos(a) - Cos(B) Wl i) - Cos(a) - Cos(B)

tg(a) +tg(B) =

Sin(p + «) o SIn(P =)
Eh(o) Sn) 2 BRI o) o)

ctg (o) +ctg(p) =



sin 6x + sin 4x = 2 sin 6x-|2-4x 86x54x = 2 sin 5x cos x:
sin 48° + sin 17° = 2 sin 2] ;17 S 29 ;17 =

= 2sin 30° cos 13° =2 - % - cos 13° = cos 13°.
] . . 9x — 5x 3x + 5x
sin 3x — sin 5x = 2 sin 5 cOosS 5 =

= 2 sin (—x) cos 4x = -2 sin x cos 4x.

] o .3t  n_3n

cos%+cos—8-=2cos828 c05828 =
_ n R)_o. N2 o _ T
—2cos4cos(8)— 5 cos8—\/§cos8.

cos (2x + y) —cos(4x — y) =
Qu+y)+@x-y) . (Qx+y)-(4x-y) _

= =2 sin 5

= —2 sin 3x sin (—x + y) = 2 sin 3x sin (x — y).
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1
Sin(a) - Sin(B) = E(Cos(oc— B) —Cos(a+p))
Cos(x) - Cos(B) = %(Cos(a— B) + Cos(c+B))
Sin(«) - Cos(B) = %(Sin(oc— B) + Sin (a + B))

Sy ) =D EUB) g oy ety =SB CILE)

ctg (o) +ctg(B) tg () +tg(p)

ctg (o) +tg(B)
tg(a) +ctg(B)

ctg (o) -tg(p) =



sin 5x cos 3x =

sin (bx + 3x) + sin (bx — 3x) _ sin8x + sin2x

2 2
sin 3x cos Sx = sin(3x+5x)-£sm(3x—5x) =
_ sin8x + sin(-2x) _ sin 8x — sin 2x
2 - 2 ]
sin 27° sin 57° cos (27° - 57°) 5 cos (27 + 57) _
_ c0s(-30°) —cos84° 1 (3 :
= 5 = 5 ( 5 cos 84 )

1
Sin(a) - Sin(B) = ;(Cos(a— B) - Cos(a + B))
Cos(a) - Cos(B) = %(COS(O&— B) + Cos(ax + B))

Sin(a) - Cos(B) = %(Sin(oc— B) + Sin(ax+B))



